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CHEN 490 — Fundamental s of Petroleum Engineering
| HW 5 (continued) — Due 28/11/2013

If the bore hole is 8 3%” and using 4 %" OD drill pipe, what is the required flow rate if the
minimum upward velocity is 195 ft/min? i

Calculate the pressure drop in psi in 1500 ft of 4’ ID pipe carrying oil ( sp. gr. = 0.825 and
viscosity = 12 cp) at a rate of 1550 gal/min.

What is the total weight of 20 bbl. Of material whose sp.gr. is 4.3?

Calculate the density in all common units (Ib,/ft’, Ib./bbl, gm/cm?) of a fluid weighs 500 Ibs?
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